
EE 230 —  HW 4.6           Name_________________________________________

Find the current flowing in each 
of the resistors in the circuit at 
right.  Use the on/off model for 
the diodes.

iR1 = _____________________________      iR2 = ________________________________

iR3 = _____________________________      iR4 = _________________________________ 

Repeat for VS = 2.5 V. 
 
 
iR1 = _____________________________      iR2 = ________________________________

iR3 = _____________________________      iR4 = _________________________________

Put your answers — and whatever work will fit — on this sheet.  Staple any sheets with additional work behind.
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